- Tribhuvan University -~ g~k
~- 2081 "
S. (4 Yrs.)/ I Year/ MGM I .
: Foundatiﬁn of.Financial Systems Full Marks: 100 ;
|MGT- 226 (New Course) it Time: 3 hrs. ‘ .
- Candidates are required (o give their answers in their own words as Jar 4
as practicable.
The figures in the margin indicate full marks. ‘
. 2 __\D]
Group "A X
Brief Answer Questions [10x2=20]

Attempt ALL questions.

- t,/ Write the meaning of financial system.
_/What do you mean by capital market?
<3~ What are the components of bank equity capital?
/ State tﬁe concept of non-depos1tory mstltutxons
- How do you compute NEPSE lgge( |
} - Write the-meahing of initial i)ublic offerings
XYZ mutual fund has 500,000 shares outstanding, and its assets

consist of common stock with an aggregate market value of
- Rs 6,800,000 and liabilities of Rs 300,000 as of Asar 31, 2081. i
= What is the NAV per share of the fund?

| &N

C

A bank~has proﬁt _grgm ratio of 12 percent and asset utilization
ratio of 0.6 times. What is 1ts return on assets?

9. A Tbill with face value Rs 10, 000 and 180 days to maturity is
(/len: at Rs 9,750. Calculate annual yield on the T-bill.
10. Bank ABC has a gap ratio of 18 percent, while that of Bank XYZ
is 24 percent. Which bank is more interest rate ¢ seénsitive ?

CamScanner


https://v3.camscanner.com/user/download

. T — e AT e T ——— 5
e e SR R e
: ~

© Growp'™ 9 =
. B e s, W o
| Descriptive Answer Questions 4 c:f s [5x10=50]
Attgmpt FIVE questions. ’ i~ v

- Explain the major fun€tions, duties and power
& | , A ower of Nepal R
7 PR fonctas B p epal Rastra Bank
12. Describe the meaning and functions of secondary markets.  [4+6]

\%reen Food Limited has grown rapidly during the past five years.

// Recenﬂy,_ company has discovered some good investment

' OPportunity. It plans to raise an additional Rs 2,000,000 through

nights offerings. Current market price of the stock is Rs 200. But

subscription price is set at Rs 100 which is equal to its par value.
Company has 80,000 shares outstanding. J

a. How. many new shares of common stock the company must issue
to raise required amount of funds?’ |

b. ‘“h/'h;Iat? are the number of rights required to purchase one new
share TR |

. Calculate theorétical value of each nghg/

d. Calculate theoretical value of a share when stock goes éx-right .-

e. Calculate theoretical value of a right whe;{ the stock sells ex-
rights and the aCtual market price goes to Rs 185 per share

o

| [5x 2]

14 alayan Bank Limited (HBL) has Rs 500 million in the reserve o
for loan loss account on its balance sheet. The bank management has i
decided that the minimum adequate reserve is Rs 475 million. 7
Assume that Rs 50 million of loans are uncollectible and bank S

- management charges off these loans. ' ' \,5\

- a. How much the bank management should incfease ttk_:/at:éued

‘ Q
expenses item, provision for loan losses to replenish the reserve? IQ’
b. Suppose that the bank management charges off Rs 100 million . < -
and recovers Rs 5 llion. What will be the amount of net &
charge-off? ' ' - «

| (
c. What will be the provision for loan losses for the current year if S\

bank maintains the minimum adequate reserye for loan losses
assuming that amount of gross charge-off is'Rs 100 million and
recovery amount is Rs 50 million? BT O

(2)
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: d What;rwili beihe reserves for loan losses? , [4?§ 2.5] :

<

Ay onsnder the followmg stock quote for Nabil Bank lexted der;ved from
NEPSE tradlng as on July 31,2024. | | . :

1
\.

L -~ |Prev. . oo, D2 Weeks]
Symbol{Open| ighLow(Closg Vol. Close Turnover lef%Hi Al ow

NABIL| 596 | 630 590] 635 [123,432|(590)37214250(+7.62( 775 495

What do ‘Open’, ‘High’ and ‘Low’ mean?
At what price did the stock closé on the trading day?

‘c. What were the maximum and the minimum trading prices of
-NABIL stock on the day of quotation?

= d How many shares of NABIL stock:were traded on theday? =
e. What is total value of shares traded on the day? '

-~ £ Did the stock price increase or decrease on the day of quotation
as compared to previous day? * -

P

S

. What does ‘diff%’ mean? o = =
_h. 'How do you explain 52 weeks Hrgh-Low quote? [8 x 1.25]

o

16 _ Wnte short notes on (Any TWO)
a. Ancrllary services
bf ecu 't{es Board of Nelgal/

N

N T e
~ Analytical Answer Questions ’ = Loy _[2*15=30]
- Attempt any TWO questions. | | o

- 17. Describe the components of ﬁnancral system? Explain the current
status of financial institutions in Nepal. | [9 +6]

N y ummary. of current account for the first nine months of the fiscal
year 2023/24 pubhshed by Nepal Rastra Bank is as follows
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x > / ummary of Current Account (Rs. in million) .
£ ey / Particulars | Credit| = Debit

Goods and services .| Rs 440,000 | Rs 2,800,000
T Goods ~ 305,000 2,500,000
: Services ~ 135,000 300,000
% Primary income - ; 65,500 | . 31,250
Secondary income ' 1,410,000 - 9,675

Based on the information contained in the summary of current
account, you are required to answer the following questions:

a. What do you mean by balance of payment and balance of
trade?

- b. What is the net of goods and services account during the
__given period of ﬁscal _years?

c. What is the net of primary income account and secondary
income account during the given period of fiscal year?

N d. Which accounts have contnbuted to mcrease the current
account deficit? Explain.

e. Which accounts have contnbuted to decrease the current
account deﬁc1t‘7 Explain.

f. What is the trade deficit or surplus during the first nine
months of given fiscal year? What does it mean? . [6 x 2.5]

19/ ASsume that the real risk-free rate of interest is currently 2 percent.
Inflation is expected to be 5 percent this year, 6 percent in the
second year and 7 percent in the third year and thereafter. Assume
2 that the maturity risk premium up'to three-year maturity is zero.
a. What is the yield on 2-year Treasury securities?
o b. What is the yield on 3-year Treasury securitics?
<3 c. If the maturity risk premium on 4- year securities is 0.75 percent,
~ what is the yield on 4-year Treasury secungtegﬁ/&
d. What are the p0551ble reasons that yields on long-term securities
are usually larger than those of short-term securities?
| ain the deferminants of interest rates. 5x3 2
e. Briefly explh J ’ o \&,\.\w \E\/ ] &b t&_\seu@
C4)  TesT
o\
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